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QUESTION 1

At which two times does the IPS rulebase inspect traffic on an SRX device? (Choose two.)
A. When traffic matches the active IDP policy.

B. When traffic first matches an IDP rule with the terminal parameter.

C. When traffic uses the application layer gateway.

D. When traffic is established in the firewall session table.

Correct Answer: AB

QUESTION 2

Which feature is used for layer 2 bridging on an SRX Series device?
A. route mode

B. packet mode

C. transparent mode

D. MPLS mode

Correct Answer: C

QUESTION 3

You are using the AppDoS feature to control against malicious bot client attacks. The bot clients are using file
downloads to attack your server farm. You have configured a context value rate of 10,000 hits in 60 seconds. At which
threshold will the bot clients no longer be classified as malicious?

A. 5000 hits in 60 seconds

B. 8000 hits in 60 seconds

C. 7500 hits in 60 seconds

D. 9999 hits in 60 seconds

Correct Answer: B

QUESTION 4
Which configurable SRX Series device feature allows you to capture transit traffic?

A. syslog
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B. traceoptions
C. packet-capture
D. archival

Correct Answer: B

QUESTION 5

You are using logical systems to segregate customers. You have a requirement to enable communication between the
logical systems. What are two ways to accomplish this goal? (Choose two.)

A. Use a shared DMZ zone to connect the logical systems together.

B. Use a virtual tunnel (vt-) interface to connect the logical systems together.
C. Use an external cable to connect the ports from the two logical systems.
D. Use an interconnect LSYS to connect the logical systems together.

Correct Answer: CD
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